
 

iz’u&i= dh ;kstuk  

 
d{kk & 12 
fo"k; & i;kZoj.k foKku        
vof/k & 3 ?k.Vs 15 feuV                     iw.kkZad & 56 
 

1- mn~ns'; gsrq vadHkkj & 

Ø-l-a mn~ns'; vadHkkj izfr'kr 

1- Kku 22-50 40.18 

2- vocks/k  17-00 30-35 

3- vfHkO;fDr  12-50 22-32 

4- ekSfydrk 4-00 07-15 

;ksx 56-00 100-00 
 

2- iz'uksa ds izdkjokj vadHkkj & 

Ø-
la- 

iz'uksa dk izdkj iz'uksa dh 
la[;k 

vad izfr 
iz'u 

dqy vad 
izfr'kr 

izfr'kr 
iz'uksa dk 

laHkkfor  
le; 

1- oLrqfu"B 9+4=13 1 23.21 34.21 25  

2- vfry?kwÙkjkRed 8 1 14.28 21.07 15 

3- y?kwÙkjkRed  12 1½ 32.14 31.57 50 

4- nh?kZmRrjh; iz’u  3 3 16.09 07.89 50 
5- fuca/kkRed 2 4 14.28 05.26 55 
 ;ksx 38 & 100-00 100 195 

             

 fodYi ;kstuk % vkUrfjd          

3- fo"k; oLrq dk vadHkkj & 

Ø-l-a fo"k; oLrq vadHkkj izfr'kr 
1- bZdkbZ&1 i;kZ;oj.kh; iznw"k.k vkSj ekuo LokLF; 14 25-00 
2- bZdkbZ&2 gfjr izkS|ksfxdh 10 18-00 
3- bZdkbZ&3 i;kZoj.kh; fu;e ,oa vUrjkZ"Vªh; ?kks"k.kk,¡ 10 18-00 
4- bdkbZ&4 i;kZoj.kh; tSo izkS|ksfxdh 11 18-00 
5- bdkbZ&5 i;kZoj.k vkSj lekt 11 21-00 
                                                     ;ksx 56 100-00 



iz'u&i= CY;w fizUV 
d{kk & 12       fo"k; %& i;kZoj.k foKku         iw.kkZad    & 56 

Ø-
la- 

mÌs'; bdkbZ@mi bdkbZ Kku vocks/k Kkuksi;ksx@vfHkO;fDr dkS'ky@ekSfydrk ;ksx 
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1- bZdkbZ&1 i;kZ;oj.kh; iznw"k.k vkSj 
ekuo LokLF; 

 3(3) 1(1)  1 ½(1) -   *2(1)   -  1 ½(1)   - -  -  -   3(2)              *2(-)  14(9) 

2- bZdkbZ&2 gfjr izkS|ksfxdh  1(1) -  - -  -  1(1)   1(1) 1 ½(1)   3(1) -  1(1)   - 1 ½(1)               - 10(7)  

3- bZdkbZ&3 i;kZoj.kh; fu;e ,oa 
vUrjkZ"Vªh; ?kks"k.kk,¡ 

1(1) 1(1) 1 ½(1)  - -  - 1 ½(1)  3(1) - 1(1) 1(1) -       - 10(7) 

4- bdkbZ&4 i;kZoj.kh; tSo izkS|ksfxdh  1(1) -  3(2)   -  *2(1)
  

1(1)  1(1)  -  -  - -  1(1)   -             *2(-)   11(7) 

5- bdkbZ&5 i;kZoj.k vkSj lekt  2(2)  1(1) 1 ½(1)  -  -  1(1)   - 1 ½(1)  -  -  -  1(1)   - 3(1)             -  11(8) 

  
 ;ksx 8(8)  

 3(3) 7½ 
(5)  

 - 4(2) 3(3) 2(2) 6(4) 6(2) - 2(2) 3(3) 4½ 
(3) 

3(1) - - - - - 4(-) 56(38) 

 

 

22½(18) 17(11) 
 

12½(9) 
 

4(-) - 

fodYiksa dh ;kstuk %& iz-la- 19] 20 esa ,d vkarfjd fodYi gSA    uksV%& dks"Bd esa ckgj dh la[;k vadksa dh rFkk Hkhrj iz'uksa dh |ksrd gSA 
                     

 
gLrk{kj 



mPp ek/;fed ijh{kk&2023 
i;kZoj.k foKku 

fo"k; dksM SS&61 
[k.M&v 

SECTION-A 
le;%&03 ?k.Vs 15 feuV         iw.kkZad 56 

1. fuEufyf[kr cgqfodYih; iz'uksa ds mRrj ] mRrj &iqfLrdk esa fyf[k,A 
Write the answers of the following multiple choice question in 
the answer book. 

    (i) fuEufyf[kr esa ls ok;qe.My dk 78% Hkkx cukus okyh xSl gSA 

(A) vkWDlhtu      (B) ukbVªkstu 

(C) gkbMªkstu      (D) ehFksu 

Which of the following is a gas constituting 78% of the 
atmosphere.  
(A) Oxygen      (B) Nitrogen 

(C)Hydrogen (D)Methane        (1) 
 
(ii) ok;qe.My dh ijr ftlesa vkstksu Lrj mifLFkr gksrk gSA 

(A) vk;kuksLQh;j    (B) ehtksLQh;j 

(C) LVsªVksLQh;j     (D)VªksiksLQh;j 

The layer of the atmosphere in which ozone level is present. 
(A) Ionosphere (B) Mesosphere 
(B) Stratosphere (d) Troposphere      (1) 

 
(iii) i;kZoj.k ¼laj{k.k½ vf/kfu;e fdl o"kZ ykxw gqvk \ 

(A) 1972       (A) 1980 
(A) 1981        (A) 1986 
In which year, the environment(protection)act was 
implemented ? 
(A) 1972       (B) 1980 
(C) 1981        (D) 1986             (1) 
 



 

(iv)    Hkkjro"kZ esa igyk bdks&ekdZ fdl dEiuh dks feyk Fkk \ 

(A) xksnjst      (B) ctkt 

(C) VkVk        (D) ckVk 
Which company got the first Eco-mark in India ?  
(A) Godrej        (B) Bajaj 
(c) Tata            (D) Bata                  (1)  

 
(v) LVkWdgkse lEesyu esa pop's esa lfEefyr 12 jlk;uksa dks fdruh Jsf.k;ksa esa j[kk 

x;k FkkA  
(A) nks      (B) rhu  
(C) pkj      (D) ikap 
In how many categories were the 12 chemicals included in the 
pop's in the Stockholm conference? 
(A) Two     (B) Three 
(c) four        (D) Five                                     (1) 

 
(VI) ok;q iznw"k.k fuokj.k rFkk fu;a=.k vf/kfu;e esa fdruh /kkjk,W gS \ 

(A) 74       (B) 64 
(C) 54        (D) 44 

How many sections are there in Air prevention and control of 
pollution  act ? 

(A) 74       (B) 64 
(C) 54        (D) 44                      (1) 

 

(VII) vtSofuEudj.kkh; dpjs dk mnkgj.k gS \ 

(A) dkxt       (B) dk"B 

(C) fVu         (D) lwrh oL= 
 

Example of non biodegradable wastes is ? 
(A) Paper                   (B) Wood 
(c)  Aluminium                 (D) Cotton cloth      (1) 



 
(viii) tSfod vkink dk mnkgj.k gSA 

(A) HkwdEi        (b) ck<- 
(C) ok;jy laØe.k  (D) lw[kk 

An example of a biological disaster. 
(A) Earthquake      (B) Flood 
(c) Viral infection  (D) Drought          (1)  
 

(ix) fo'o dk izFke i;kZoj.k lEesyu dgkW vk;ksftr fd;k x;k Fkk \ 
(A) Hkkjr          (B)  LVksdgkse 

(C) U;w;kdZ          (D) yanu 
 

Where was the world's first environmental conference held? 
(A) India           (B) Stockholm 
(c) New York          (D) london            (1)  

 
fjDr LFkkuksa dh iwfrZ dhft,A 

Fill in the blanks. 
(i) ihus ds ikuh dh xq.koRrk ds ekudksa dk fu/kkZj.k ------------ }kjk fd;k tkrk gSA 

The standards for drinking water quality are determined by 
the --------------.              (1) 

(ii) LoPN fodkl fØ;kfof/k  (CDM)   --------------------------- izksVksdkWy dk ifj.kke  gSA 
The clean development Action method is a result of the --------
-------Protocol.              (1) 

(iii) ---------------------------- ,d NksVh xksykd`fr ] Loizfrd`ru ;ksX; Mh-,u-, dh nksgjh 
yMh okyh lajpuk gSA 

-------------------is a small circular shape, replicable, double 
stranded structure of a DNA.          (1) 

 
(iv) /ofu dh bdkbZ dks ---------dgrs gSA 

The unit of sound is called--------------------.      (1)  
 



 
 

1- fuEu iz'uksa ds mRrj ,d 'kCn vFkok ,d iafDr esa fyf[k, A 

Answer the following questions in one word or in a line.  
(i) iznw"kd dks ifjHkkf"kr dhft,A 

Define pollutants.         (1)  
(ii) lkSj isuYl ds fuekZ.k esa dke vkus okyh v/kZpkyd /kkrq dkSulh gS 

Which is the semiconductor metal used in the manufacture 
of solar panels.         (1)  

(iii) eksfUVª;y lays[k dk m}s'; fyf[k,A 
Write the objective of Montreal Protocol.    (1)  

(iv) ml izksVksdksy dk uke fyf[, ftldk eq[; m}s'; vkS|ksfxd  ns'kksa }kjk 
xzhugkml xSlksa ds mRltZu esa dVkSrh djuk FkkA 
Name the Protcol whose main objective was to reduce the 
emission of greenhouse gases by industrilized countries. (1)  

(v) vtsZofuEuhdj.kh; dpjsa dk ,d mnkgj.k fyf][k,A 
Write an example of a Non-biodegradable wastes.  (1)  

(vi) tSfod mipkjhdj.k rduhd dks le>kb,A 
Explain Bioremediation technique.     (1)  

(vii) jktLFkku esa o"kkZty laj{k.k gsrq viukbZ tkus okyh fdlh ijEijkxr fof/k  dk 
uke fyf[k,A 
Name any one traditional method adopted for rain water 
harversting in Rajasthan.       (1)  

(viii) ueZnk vkUnksyu dh 'kq:vkr fdlds usrR̀o esa gqbZ FkhA 
Under whose leadership was the Narmada movement 
started .          (1)  

 
 

[k.M&c 

Section-B 
y/kqmRrjh; iz'u ¼mRrj 'kCn lhek 25 'kCn½ 
Short answer type questions (Answer word limit is 25 words)  
4- /ofu iznw"k.k fu;a=.k ds rhu mik; fyf[k,A 



Write three measures to control noise pollution.  ½+½+½= 1.5 
5.gfjr xg̀ xSlksa ds rhu mnkgj.k nhft,A 

Give three example of greenhouse gases.    ½+½+½= 1.5 
 
6. fofdj.k ds vkuqokaf'kd izHkko dks le>kb,A 

Explain gentic effects of radiation.     ½+½+½= 1.5 
 
7.iznwf"kr ty esa mxus okys rhu tyh; ikniksa ds mnkgj.k nhft,A 

Give example of three aquatic plants growing in polluted water 
½+½+½= 1.5 

8. uohudj.kh; izkd`frd lalk/ku ds mnkgj.k fyf[k,A ¼dksbZ rhu½ 

Give example of renewable natural resources (any three)  
½+½+½= 1.5 

9.ok;q iznw"k.k fu;a=.k esa gfjr ifV~dkvksa ds ykHk dks le>kb,A 

Explain the advantage of green belt in air pollution control.  
½+½+½= 1.5 

10. oU; tho laj{k.k vf/kfu;e fdl lu~ esa ykxw fd;k x;k FkkA bl vf/kfu;e dk 
dksbZ ,d m}s'; fyf[k,A 

In which year was the wild life protection act was implemented? 
write any one  objective of this act.    ½+½+½= 1.5 

 
11.lafo/kku ds vuqPNsn 51 A ds rgr fdlh ,d ewy dRrZO; dks le>kb,A 

Explain any one fundamental duty under article 51A of the 
constitution.        ½+½+½= 1.5 

 
12- oeZ dkafLVXl dk mi;ksx fyf[k,A 

Write the use of worm castings.     ½+½+½= 1.5 
 
13. th ,e vks dks iwjk uke  fyf[k, o bldk ,d ykHk fyf[k,A  

      Write fullname of GMO and write one advantage.  ½+½+½= 1.5 
 
14.fpidks vkUnksyu ds izHkko dks le>kb,A 



     Explain effect of Chipko Movement.   ½+½+½= 1.5 
15- Hkw[kyu ds izkd`frddkj.k fyf[k,A 

      Write natural causes of landslides.    ½+½+½= 1.5 
 

[k.M&l 

SECTION-C 
 
nh?kZ mRrjh; iz'u ¼mRrj 'kCn lhek 50 'kCn½ 

Long answer type question ( answer word limit is 50 word) 
 
16. ÅtkZ laj{k.k gsrq vki }kjk mBk;s tkus okys rhu dne le>kb,A 

      Explain three steps you can take to conserve energy. 1+1+1=3 
 
17. i;kZoj.k dkuwuksa dks ykxw djus esa vkus okyh rhu ck|kvksa dks le>kb,A 

Explain three obstacles in the implementation of envirommental 
laws.          1+1+1=3 

 
18. vkink izcU/ku dk vFkZ fyf[k, A HkwdEi ds izHkko dks de djus gsrq viuk;s tkus   

okys nks mik;ksa dks le>kb,A 

Write the meaning of disaster managment explain the two 
methods adopted to reduce the impact of earthquake.  1+2=3 

 
[k.M&l 

SECTION-D 
 
fuca|kRed iz'u ¼mRrj 'kCn lhek 100 'kCn½ 

Essay type question ( answer word limit is 100 words) 
19.ty iznw"k.k ds nks L=ksrksa dk o.kZu dhft,A tSo vko/kZu ds QyLo:i [kk| Jà[kyk 

ds vfUre iks"k.k Lrj esa dhVuk'kh jlk;uksa ds c<rs lknz.k dks iznf'kZr djus okyk 
js[kkfp= cukb,A 



Describe two sources of air pollution.Draw graph showing the 
increasing concentration of pesticide chemicals at the end 
trophiclevel of the foodchain as a result of biomagnification.  

 
oR/ vFkok 

 
vi?kVu dh izd`fr ds vk/kkj ij iznw"kdks  ds izdkj dk o.kZu dhft,A ok;qe.My dh lajpuk 
ds fofHkUu Lrjksa dks iznf'kZr djus okyk js[kkfp= cukb,A 

Describe the types of pollution on the basis of nature of 
decomposition.Draw a diagram showing the different levels of  
composition of the atmosphere.      2+2=4 
 
20-Bksl dpjk fuLrkj.k gsrq viuk;s tkus okys fodYi lkeqnkf;d dpjk ik= dk lfp= 
o.kZu dfj,A 

Describe with diagram of community waste bins adopted for alternative 
for solid waste disposal.         

oR/ vFkok 
Bksl dpjk fuLrkj.k gsrq viuk;s tkus okys fodYi lkeqnkf;d xM<s~ dk lfp= o.kZu 
dfj,A 

Describe with diagram of community pits adopted for alternative for 
solid waste disposal.         2+2=4 
 


